Fx.1

CoﬂSiiw ﬁmchwn h:H—-)H‘Pwlwrtth[ﬂ,’) = gﬂ'/.
injective. if h(ﬁ):ho‘r‘) fr X T ER, then

ﬂ’_.
ﬁne% W’
Y= ¥

Suj&jf\lc- ﬁ:r an y€£+ we Hnow ﬂny=?f@,x:f'}f}.
Thaw W(%)=h(Lay) e =y

Preserves iufefpﬂf ion .,ﬂﬁ. L!( JEH(?«/U %2))

:l«(%w%.)

< e%lf%?-

C e

2 \4(7[4) h (%)
= N hZ),y hia))

[xﬂ,

ﬂmctw’t J’ ({}; {}) lf a 5u},<ﬁmcfm &5 JWL k’lf
No wewbers.. Observe RB; - RT [I {1

{31=1R"n13
Sfmcfure }1#( {l} ? {CI,U}) 15 a fwafmc'ﬁun:' as
7= 1N 1Y

Jamy= Ry £ 0,0}
=Ny - as L) ERT



Cm;fmcf Aufowrphfsm h as

Observe h(’f) 15 even i?’g X5 even

obfervc (“Jb)e E?
> atb is even
s Ei'Hau", « wd b-are even ) or
a a,.,J L are mfj
&> Gither, ha) awd h(b) ave even, ov
h@a) and W(b) are odd
<> hla) +hib) is evey

& (ha); kb)) € £F

bx..3
Nn't IfaMaP‘FMC-- A})’ume PW' ‘kt‘a 5.,“3 2,,.?- CoWﬁVntoncﬂﬂn ftlere}qln'jecﬁbn
L%—’Q 5&0&\ M aCh it h(a)< 11(“ fur any a, b€ 2.
ﬂ\w | < ‘2 impﬂfef h(l) < h(2). . We Know Hhere e.rtﬁfaraﬁbuj
W) whereby: W <Chle) <h(R) . it Lollow ¢ is am integer wheve 1<CC 2.
C,V\}"V'uoeicffah‘

Ex. 4
rdl

Calﬂﬁj-cf ‘Hm! fwo r’apl'l ﬁmc‘tuw.s /b(-"' ({Z; V’%} 9 {(Z:V)}) ll.l»h?
}}"-'—' ( {a;bfc}; { (a,b), ('NC)}) with bijection h MV""’{ as.- Xl a
Obfcrv;; (?f)y) c RJ‘ awf (]ﬂ(ﬂ’); h('f)) = (a; b) € R)U Vi b

B (‘”(7)7 \4(%)) = (L) ) C RN “'ﬂ ('f;%)¢ R'M e c
H"’““-’— ldaMeMaYth}'M LJ Ve? (5o M‘«"V’thIM-



Ex.4
) Not o formala T
i iT were o Pormuda, Fhen by the. inductive Lbinition Y. s a Cormula
dhva ba? it's neb-

1) Nt o Pormula
iﬁ fff weré. a ﬁarMuj«, ’ﬂuu Ly ﬂu iuiucfivz anf?hbh

P({t{) A3 R(Zi %) v P(/'fz) 15 oLso a formuta . Bt it Joesn't
Mabch awf Cafe '-f? the debinition.. Covtbvaliction.

3) IEarWluL
(32 P(%) <. V1, P (te, )
> T
3%, p(X) VZs P ( &%s, %5))
| |
p(%) P( F(Zs,%5))

TLC fHe'f Vlaaoéf are E.XﬂC'b'z/ 'Hqc. 54‘2&%“-@(5

/(u/L Eorwtuuz(; Miﬂf‘hon Faﬂwamk the: same paﬂ'u'ﬂ *ﬂ Pese I} Mfmflbm,
For each Pivrst-order formula o¢ F: We “”""i‘fﬁ' - Seb” 5?[9] ) 45
# if O i5an aomic foymula ; Then $PL0] =10}
% i$0=7Y for fowida ¢, Then R[01= 03U 58197
% if 0= (00%) bor formides ¥ ud +, Then s [0F = SELYI USELHIU {07
b it 0=YYY or 0= 32 ¥, Then $ELOT= $ELY3 U-§03



bx.
re

for both (1) avd () bownd variahles % ave undortined

‘) 3%3 (VZZP(J"(%/E_}/_@))H{V}'/IR(CIZ:?)A
| V¥ P( 1%, %)) ) )

(\m P( hotsm)) & (V:a plei) A V25 P 3(1,1)) ))
/\-

W22 P ( htuts 7)) Y 2 R Cet) M35 (30 )
l |
P( h(ﬂfuﬂf;,l’zl) H(Cf?-’l) A VY; P(}(ﬂ’;ﬂ’z))
. T~
R(C;ﬁ(f) VZ%P(T(Z?;?«/Z))
|
P( j/(a/}/ 31/2}}

2/3 1§ baum{ as ‘Hﬂe Slmﬂa 1S fyg'ﬂwﬁbrm TQ:BZT,
and Ly Lo} (P 6F), hone of Hhe occurences is Free.

Rwuiw'“af OtCurences cwm be $howin LV the same Jine. oF reas O“MJ’

2) (V% (P fox) v 37, R(¥.2))—= 325 (Vx,
R[_@/%z) VP(%)))

S[M{ﬂw VCGSOWM?



	06

